BRIEE o A — AR (FAH)

(BEAr:M)

S (A) OF #1 QF 1% O®r M D+ @+0 % B

HREAEA 9:00~12:00 | 13:00~17:00] 18:00~22:00| 9:00~17:00 | 13:00~22:00| 9:00~22:00
2F £ =1 (24 N) 660 660 1,100 1,320 1,760 2,420
2F Ex=E2 (24 N) 660 660 1,100 1,320 1,760 2,420
2F £4=3 (24 N) 660 660 1,100 1,320 1,760 2,420
2F F=ZE1 (15.N) 660 660 1,100 1,320 1,760 2,420
2F f=E2 (15.N) 660 660 1,100 1,320 1,760 2,420
2F EB=E (20.N) 660 660 1,100 1,320 1,760 2,420
3F hEE=E (6A) 440 440 660 880 1,100 1,540
3F &= (30N) 1,100 1,100 1,320 2,200 2,420 3,520
3F X&E=E (120N0) 1,320 1,320 1,980 2,640 3,300 4620
HEAKB) BEEE EEENOERS (B)= (EA&HEARA)X 30
HEAK(C) TMRELUSOENMER (C)= (EA&HEAPA)IX 15
HEAKD) THRELSOENZEBHOER D)= (EXFEAPA)X 45
ERAKF) ABEEERE

AE#H(6/1~9/30)

SR E 8 A HARE (F=  &EAEABGCD)X 12

BEER(11/1~3/31)




